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.1. Where dées the conversation probably take place?

A. At a store. B. In a restroom. C. At a court.

2. What is the possible relationship between the speakers?

A. Two strangers. B. Two players. - C. Two friends.
3. What does the bag contain?
A. A new racket and five balls.
B. Two new rackets and ten balls.
C. A racket and ten balls.

W — B xtiE, E &5 4—6 &,

4. What’ s the matter with Fred?

" A. He has a cold.

B. He has the flu.
C. He has a stomachache.

5. How long has Fred been sick?
A. Maybe for seven days.
B. Méybe for five days.
C. Maybe for three days.

6. What does Fred decide to do?

A. Listen to Jenny’s suggestion.
B. See the same doctor again.
C. Talk to Jenny’s mother.
WT 88 = B XHE, m&E S 7—9 &,
7. What did the man’s mother use to do?
A. Cooking and washing up.
B. Shopping and repairing.
C. Decorating and fixing.
8. What are the jobs done by the man’s parents together?
A. Shopping and traveling.
B. Packing and decorating.
C. Gardening and visiting.

9. Why did the man’s mother use to give up her job?



A. Because she was separated from the man’s father.
B. Because she was terribly ill after the man’ s birth.
C. Because she had to look after her children.
W 56 M B 3 1 , B & 58 10—12 &,
10. What is the Big Game? .
A. An important football game between schools.
B. An important football game between cities.
C. An important football game between states.
11. When will the game begin?
A. Atl p.m. B. At2 p.m. C. At3 p.m.
12. What do we learn about Cara?
A. She may get to the teaching building at about 12 : 30 p. m.
B. She is very fond of football sports.
C. She will go out of town this weekend.
WERRME, EEE 13—15 H,
13. Why couldn’t the girl and her boyfriend get into a hotel?
A. Because they intended to sleep in the car.
B. Because they didn’t have a reservation.
C. Because they meant to enjoy the beautiful scenery.
14. Where did they stay overnight then?
A. At the empty parking lot.
B. On the beautiful hillside.
C. In their borrowed car.
15. How did they find their travel?
A. Lucky. B. Satisfying. C. Surprised.
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Buy a video

Actor in film: Brad Smith

Name of film. (16)

For people: (17) or more
Cost: (18)

Video shop in; (19)

Opposite; (20)
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1. Where does this conversation take place?

A. At a shopping mall.
B. At a bank.
C. At a stock market.
2. Why does the woman ask for the man’s driver license?
A. To know it’ s number.
B. To check the license.
C. To make sure the man’ s qualification.
3. What does the man think of the woman’s service?
A. Troublesome.
B. Satisfactory.
C. Incredible.

W8 R xHiE, EEE 4—6 &,

4. How many girl children does the family have altogether?

A. Nine. . B. Five. C. Four.

5. What was the woman’ s childhood like?

A. Poor but happy.
B. Quarrelsome and free.
C. Rich but unhappy.
6. Which of the following is NOT true about the woman’ s wealthy cousins?
A. They had to behave themselves and did not have so much freedom.
B. They liked the woman’s way of life.
C. They were living in a huge family.
Wr 58 =R xHiE, IE$ 7—9 &,
7. Where are the speakers talking?
A. In an office.
B. On a TV program.
C. In the street.
8. What are the speakers talking about?.
A. A trip to Japan.

B. Japanese culture.



C. Free-time activities in Japan.
9. What can we learn from the conversation?
A. All the people in Japan work overtime.
B. Most of the Japanese travel abroad.
C. Watching DVDs is more popular than gardening in Japan
rEmEmAa, mESE 10—12 &,
10. ‘Which of the followings may be included in BCD International programs?
A. News of music libraries.
B. Stories about the good old days.
C. Various kinds of classic and pop songs.
11. What’ s the Pop Words about?
A. The popular songs.
B. Popular dictionaries.
C. The words to the hits.
12. Which word best describes native speakers’ understanding of English pop songs?
A. Impossible.
B. Unnecessary.
C. Difficult.-
W 88 F B 3o, B & 88 13—15 &,
13. What’s the probable relationship between the speakers?
A. Husband and wife.
B. Boss and secretary.
C. Teacher and student.
14. Why is the man going to hold a party?
A. Because he has successfully become a college teacher.
B. Because he has bought a house of his own.
C. Because he has made quite a few friends.
15. What’ s the woman’s tone?
A. Arguing.
B. Suggesting.
C. Complaining.
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Dress Code for (16)

A dark suit, a white, long-sleeved, (17) and a silk tie shirt are ac-
ceptable.
Men i
Shoes should be (18)
The best colors for men’ s suits are dark gray, navy blue and black.
A tailored, solid-colored suit or dress is the most suitable.
Skirts are just above or not more than (19) above the knee.
Women

A good hairstyle, not too much perfume, no long fingernails is necessary.

Clothes should be (20 ) and clean.
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1. Where does the conversation take place?

A. In school.
B. At the school gate.
C. On the telephone.
2. Why does the woman interview the man?
A. To congratulate the teacher.
B. To get information for a survey.
C. To get more information about the teacher.
3. What do we know about the man? :
A. He is an average badminton player.
B. He doesn’t care too much about his students.
C. He may be the teacher whom the students love most.
Wr s ZBxtiE, EEE 4—6 &,
4. What’s the relationship between the speakers?
A. Boss and secretary.
B. Interviewer and interviewee.
C. Employer and employee.
5. When did the man take a basic marketing course?
A. When he was in high school.
B. When he was in university.
C. When he was in Mexico.
6. What does the company deal With?
A. Selling sports equipment.
B. Traveling and education.
C. Selling medical instruments.
W =R xE, &L 79 &,
7. For whom may the man buy a mobile phone?
A. His brother’s son.
B. His own daughter.
C. His sister’ s daughter.
8. What kind of mobile phone ‘does the man buy?
— 6 —



A. A Nokia.
B. A Motorola.
C. A Siemens.
9. How much does the man pay for the mobile phone?
A. 990 dollars.
B. 900 dollars.
C. 850 dollars.
EmEEMA, &S 10—12 &,
10. Why was the boy accepted by the gentleman? -«
A. He was the only one who applied to work in the office.
B. He displayed proper behavior at the job interview.’
C. He had recommendations from a great many people.
11. Why was the boy considered careful?
A. He helped an old man to keep his seat.
B. He replied promptly to the questions asked.
C. He cleaned his shoes before entering the room.
12. What did the gentleman mainly talk about?
A. The importance of recommendations.
B. What matters in a job interview.
C. The significance of a good job..
WT S8 BRI, mEE 13—15 &,
13. How long does each interview on Monday moming last?
A. Half an hour.
B. An hour.
C. One and a half hours.
14. When is the committee meeting arranged?
A. Monday afternoon.
B. Tuesday morning.
' C. Tuesday afternoon.
15. What can we learn about the man from the conversation?
A. He’s very busy.
B. He’s a little absent-minded.
C. He doesn’t plan well.
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J. K. Rowling’s Story

Before she was famous:
She had a “bad patch” in her life:

@ She was (16) , divorced and she
was so poor.
@ She lived in a small (17) with her

baby and it was so cold.

®In order to keep warm, she ‘often went to
(18) .

@ She sent her manuscripts to a lot of publish-
ers before she eventually found somebody to

publish it for her.

After she was famous:
@ Her books became the (19)
® (20) like her books.
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1. Why is it necessary to have a variety of clothes in the United States?

A. Because the USA is a very largé country.
B. Because of its great difference in temperatures.
C. Because the climate varies naturally from coast to coast.

2. Which parts have a warmer climate?

A. The South, Southwest, and California.
B. - The North-east, East, Mid-west, and North-west.
C. The southwest, Mid-west, and California.

3. What is the general temperature inside buildings during summer in the United States?
A. 20C. B. 21C. C. 25°C. |
WT S8 —BR3HE, mEE 4—6 &,
4. Why does the man look unhappy?
A. Because he has to put off his party.
B. Because he has to cancel his travel.
C. Because he has to be away for a month.
5. How does the man intend to go to Miami at first?
A. By car. B. By air. C. By bus.
6. What’ s the woman doing?
A. Criticizing.
B. Suggesting.
C. Comforting.
U7 S8 = B x5, B &5 7—9 &,
7. What are the speakers talking about?
A. Smoking.
B. Giving up smoking.
C. The advantages of smoking.
8. How long is it since the woman gave up smoking?
A. 12 months.
B. 6 months.
C. 6 years.

9. What’ s the man’s attitude towards the woman’ s advice?



A. Delighted.
B. Disappointed.
C. Opposing.
T 55 P9 B X , B & 58 10—12 &,
10. Why does the man talk to the woman?
A. To ask for her advice.
B. To give her some advice.
C. To invite her to go on a trip.
11. What can we learn from the conversation?
A. The man won’t travel with the woman.
B. The woman will go on a trip with Robin.
C. The man feels it hard to make a decision.
12. What do we know about the man?
A. He has no enough money for the holiday.
B. He does not want to hurt Nancy’ s feelings.
C. He does not like Robin very much.
WERRMA,  EE 13—15 &,
13. Why did Jane want to go back to work?
A. She was bored with her idle life at home.
B. She was offered a good job by her neighbor.
C. She wanted to help with the family’ s finances.
14. What problem arose when Jane went back to work?
A. Bill blamed Jane for neglecting the family.
B. Bill failed to adapt to the new situation.
C. The children were not taken good care of.
15. What does the story try to tell us?
A. Women should have their own careers.
B. Husband and wife should share household duties.
C. Parents should take good care of their children.

T WERER(H S NE;EMEL 5,855 4)
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A Program

Name of the program;(16)

The host: Brad Davis

The guest; Ellen Black, Globe spofts (17)
Talking about .

The Match
The Players Monica Waters and Venus Lake
Time (18 ) o’ clock, tomorrow

Monica Waters

1. She has (19)

The winner in the guest’s , . '
2. She’ s also placing the ball far better than any other

eyes and the reasons . . .
player this championship.

3. She has a lot of (20)
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1. What’ s the woman doing on the phone?

A. Complaining. B. Ordering. C. Inquiring.

2. How many bags of potatoes does the woman want?

A. One.
B. Four.
C. Five.
3. When will the order be delivered?
A. 3 o’ clock.
B. 3:30.
C. 4 o’ clock.
W8 R3S, E&H 4—6 &,
4. What is the man doing?
A. Driving.
B. Asking for help.
C. Complaining..
5. Why is the man calling so urgently?
A. His car has broken down in the Washington Tunnel.
B. His car was help up.
C. The woman is having a baby.

6. Where is the man now?
A. At the hospital nearby.
B. On the Lincoln Expressway.
C. In the Washington Tunnel.

E=BE, BEE 79 &,

7. What did the man mean by saying “I never miss Wimbledon” %
A. He went to Wimbledon every year.
B. He went to Wimbledon every year to watch the international tennis games there.
C. He always watched tennis games held in Wimbledon.

8. Why did the man come to the woman?
A. He came to talk to her about his favorite sports.
B. He came to ask her to play tennis with him.

— 12 —



